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(Write your Roll No. on the top immediatel,‘v on receipt of this question paper.)
The question paper consists of fwo sections.

Attempt: bdth sectidns. Use of simple calculators is allowed.
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Note — (i)' Answers may be written either in English or ianindi; .
| but the same mbdium ’s_hould be used throughout the
paper._ | |
@iy . The maxiﬁum marks printed on the question paper are
appliéable for the students of the regular colleges (Cat
‘A’). These marks will, however, be scaled up

proportionately in respect of the students of NCWEB

at the time of awards for'compilation of result.
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Answer question 1 and any

. two other questions.

mm1aﬁaﬁ%|
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Explain any two of the following concepts using

diagrams : ' 2525
) Opportunity Cost
(ii) Price Controls

(éify Adverse Selection
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(i) wﬁi@ FI9 " (adverse selection)-

(b) --Studies have shown that spending on restaurant meals
declines more during .economic slowdown than
does spending on food to be eaten at home. How

: i

might the concept of élasticity help to explain this

_phenomenon ? 3
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Answer any two :

() Describe the problems that arise when regulators ask
a natural monopolist to charge a price equal to

marginal cost.

(i) The marginal cost curve is the short-run supply curve
of a perfectly competitive firm. True or False ?

Explain.

(iii) A tariff reduces the quantity of imports and moves
the domestic market closer to its equilibrium without

trade. Explain. 2525
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What is meant by dead weight loss of a-tax ? What
determines its size ? How does tax revenue change when

a tax is increased ? Explain.

TR D oA W%Tﬁf(dead weight loss)'@aliﬂ arfirgrg
® 7 3 9w (qfmn) ﬁﬂac—cﬁwﬁﬁ'{m
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(b))  The short run production schedule of a 'competitivé firm -

“which uses only one variable factor of production is given

below :

S

Labour Output

1 0
2 70
3 120
4 165
5 180
6 - 190

) Find. out the marginal product and average product
- of labour. If the mafginal product is falling, can the

_average .product rise ? Explain.



(7)) 7066
(ii)v If market price of the product is Rs 10 and the firm

decides to hire five units of labour, what is the

equilibrium wage rate in the labour market.
o S W S dee T e e
1 3TE S T, SEE eI I HRef

s . . IAE
1 30

2 70

3 120
4 165

5 180
6 190

© P.T.O.
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What is the efficient market theory‘ ? Does it imply that

all stocks must yield the same expected return ? Explain

your answer. 6,64
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3.‘ (@) | Suppose thg markef for brown _breafi is given by’ the
following demand and supply functions :
Q = 1000 - §P (demapd)
Q = - 1500 + 20P (supply)
()) Solve for the equilil;ril;m-price (P) and quantity (Q)
(i}) Find the consumer surplus

(iiiy If a tax of Rs. 10 per unit is placed on the buyers,
how will it affect the equilibrium price and quantity ?
Find out the price paid by the buyers and price
received by the sellers.
T ohfrr Fr @ TS @ AW o R 5
THER ¥ :
Q = 1000 — 5P (HTm

Q = — 1500 + 20P (3fch)
P.T.O.
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A rise in the interest rate will always induce a person to

save more. Do you agree ? Explain your answer with the

help of indifference curves.

S WP TG | Al wea sifue s s
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(©) Explain the pfdblem of moral.hazard ? Discuss two

' possible 'way_s of solving this problem in a market

economy. _ _ 6,64

g 7w & @ dot e A
iEcERificainid

(a) \’Supposel ther»e' are two countries A and B producing only

two commédities XandY using labour as the only factor

of prodﬁction. The following table gives tﬁe maximum

produption of either good if all labour ig qsed in the

production of only one good -

Good X Good Y

CountryA | 50 100

/
Country B 100 400

P.T.0.
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Which country has an absolute advantage and a

compar'ative advantage in the production of

‘good X.

If both countries are 'currently devoting one half of

their labour resource in-the production of X and the

other half in the production of Y, what will be the

" production levels ‘in both countries in the absence

of frade.

If trade opens, what will be the trading pattern ? What
will be the range of exchange rates betwéen the two
goods at which trade will be beneficial for both

countries ? Explain.

wer FT e 2w 4 oK b Paw @ T
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Define compensating differential in the context of wage
differenceé. Illustrate with the help of an example. Give

two reasons why more educated workers earn more than

‘less‘ edpcatéd workers.
T W # em ® ued # yfewd eim
" (compensating differential) ! ftenf B¢ W"T ’

g whEEd ) i fafya sfvel @l e wH
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Explain the inefficiency of monopoly as a market
structures. Is jt possible to have an efficient allocation of
resources even under monopoly ? - 6,46
THIFR SIS 1 STHIIEAl &1 qoi Hifsa | ==
Ig dyg ¥ fr wEfeR sem # ot T o
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Section II

(@S 1) |

Answer question No. 5 and ‘aﬁy two other questions.

o e 5 FEd ¥ W A A A R Fh

Answer any iwo :

@

®)

. fpEl @ B SW e

How does an increase in money supply lead to an increase

in prices in the classical framework ? Explain-this

process.

ma (classical) ﬁﬂ'{m | Reil "Lﬁ #H qf;
gﬁ@m%@fwﬁ% 73‘61;%65“114%@1

- Will depreciation of the domestic currency always lead to

an improvement in the balance of trade ? Explain.

rﬁgéﬁwﬁwmmm»ﬁ

QuR Smem 2 W
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What are the limitations in_using gross domestic product

. as a measure of welfare ? 5.5

FHe W] TR H FA B OGS A D

ﬁaﬁﬁwqﬁqmﬁwwﬁﬁqﬁ%?

Why is the aggregate demand curve- downward
sloping ? Explain the impact on the aggregate demand

curve if :
(i) . price level increases, and
hd ° .

(i) money supply increases.

a@wﬁwmwﬁaﬁaﬂtwm%7
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During a recession interest rate may fall e'yeri if the
ceﬁtral bank takes no st.eps to expand money supply.
Why ? vExplain with the help of money demand and supply
curves. ' ' ‘ : 64
W & A W $% g0 9w 9@ % PR
% fod ®¢ FEad 7 T W o TW F I
it &1 & 2 gz A 9 o o g wHEs

What is meant by crowding out effect ? If investment is

a function of interest rate and the price level is constant,
what will be the impact of an expansionary fiscal policy '

on income, investment and interest rate ? Explain in
detail.

FrafEn oTee (crowding out) o ¥ T :ﬂﬁm
¥ 2 s P = @ Pk e B ol w
R feor B, A oS T A w e,
fRw @R =W R W F I =W ? e
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What are the tools which the Central Bank uses to control
money supply. Are there any constraints’ on their power-

to control money supply ? Explain. 55

i R F T S e @
wwm% ? g1 P B i
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Use the following information to calculate :

() equilibrium level of income

(i)) government expenditure multiplier énd

(#if) tax multipliér,

Consumption function C =250 + 0.75 Yd; where Yd lS
disposable income

Taxes =100

Government eﬁpenditure G =200 -

Investment =675 ‘
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(i) B O
Eul  C=250+075 Yd,.aﬁ Yd
T T = 100 | |
WEH am  G=200

R 1= 675

What are the facfors which affec? the demand and supply
of a currency ? How will the exghange rate be;twee.rl
currenéies of India and GéMaﬁy change if inflation in India
is higher than in Gér;nany,i other things remain‘ing the

same ? ‘ 55

P.T.O.
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